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1. I remember —- you last year.

meet
met
meeting
. to meet

oo wp»

Answer: Option C
2. Evolution

evolve
evolute
evolutive
. evolution

oo wp»

Answer: Option A

3. The house / has been / built / in 2012.
A. the house

B. has been

C. built
D. in 2012

Answer: Option B

4. Suriya has received a letter.

A. does she?
B. doesn’t she?
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C. has she?
D. hasn't she?

Answer: Option D
5. There is no need to rake up an old quarrel.

A. start
B. end
C. forget
D. revive

Answer: Option D

6. Man’s biggest enemy is his fear of failure — So it is very
important to overcome our fears and build our self-confidence
before picking up the gauntlet.

(A) It is something, which can adversely affect his performance.

(B) Fear also makes one lose one’s self-confidence.

(C) It is essential that we learn new things and move ahead in life.

A. Only C
B.Aand B
C.Aand C

D. Only A

E. All the three

Answer: Option B

Solution:
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C is different from the idea expressed in the given sentences. Only
A and B can come in between the two sentences.

7. Liven

under
en
on
. in

oo wp»

Answer: Option B

8. The house

(P) about half a mile distant

(Q) that stunds in front of us

(R) was built of stones

(S) which were dug out of its own site

QSPR
QRPS
QPRS
. QRSP

oo wp»

O

I smell something burning

SV
SVOC
SVO

. SVOO

oo wp»

Answer: C.
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10. But for your help. I would not have been able to solve this
problem.

A. If you had helped me
B. Without your helping
C. Had you helped me

D. In case you helped me
E. No correction required

Answer: Option E

Solution:
The sentence requires no correction. Choice (A) though
grammatically correct is logically inconsistent.

11. Affection

affect
affectionate
affectingly

. affectionately

oo wp»

Answer: Option B
12. Luminous

A. Clear
B. Dim
C. Brittle
D. Clever
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Answer: Option B

Solution:
Luminous means radiating or reflecting light, or glowing; Dim
means dark or dull

13. In summer, days are more warmer than nights.

more warm
warmest
warmer

. hone

oo wp»

Answer: Option C
14. To get something for a song

A. to get something by playing a short piece of music
B. to get something at a very low price

C. to complain about something

D. to start learning music

E. to give a musical performance

Answer: Option B
Solution:

‘To get something for a song’ is to get something at a very low
price.
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15. Man’s biggest enemy is his fear of failure — So it is very
important to overcome our fears and build our self-confidence
before picking up the gauntlet.

(A) It is something, which can adversely affect his performance.

(B) Fear also makes one lose one’s self-confidence.

(C) It is essential that we learn new things and move ahead in life.

A. Only C

B. Aand B
C.Aand C

D. Only A

E. All the three

Answer: Option B
Solution:

C is different from the idea expressed in the given sentences. Only
A and B can come in between the two sentences.
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